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TASK:  Give examples of how countries become increasingly interdependent with this concept of ‘globalisation’
· Economic interdependence


· Socio-economic interdependence


· Global environment


· Political – global governance





Issues associated with interdependence
· Globalisation enables workers to move more freely around the world.  
· The main flows are from developing countries towards wealthier regions.

TASK:  What are the positive and negative effects of labour movement? Consider for both the source and host country.
























Outsourcing
TASK:  Watch the clip on outsourcing:  https://www.youtube.com/watch?v=aqhjNJkvC9w


· Outsourcing takes manufacturing or service jobs from high wage economies in Europe or North America to a sub-contracting organisation in a lower wage economy e.g. China.
· Consequences for original country:
· Loss of jobs:  knock on effect less spending in local economy, leads to a loss other jobs/services known as the de-multiplier effect.
· De-industrialisation of the economy.  Areas go into decline with derelict factories etc.
· Structural unemployment:  The skill set of local workers is no longer compatible as jobs they trained for have moved abroad.  They are often ill-equipped for the new typed of work that move in.  High investment from government is required to retrain workers.  It can take a generation before a new workforce with the education and skills required emerges.

Inequality Issues
Globalisation for increase prosperity for all and make the planet more equal in terms of income distribution.
There are two measures of inequality to consider:
· The difference between richer countries and low-income countries and whether the difference between the two is increasing or decreasing.
· The inequality in incomes that exists within each country and how this is being affected by globalisation.
Indicators suggest that globalisation is reducing global inequality through the transfer of capital and income from richer to poorer economies.  Paradoxically it may be increasing inequality within countries as richer members of societies cope better with the changes in jobs and technology.

Inequalities between countries

· Communication and transport has integrated the integration of economies.
· Developing countries are closing the gap with their rich-world counterparts.
· The development continuum, expect the least developed countries, has become more condensed.
· The fastest growing economies continue to be in Asia.

TASK:  Why are countries that are well connected within global systems likely to be more prosperous?










TASK: Analyse the global differential rates of GDP growth in Figure 7.18..  
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Widening Income Inequality

TASK:  Watch the clip and makes notes on levels of inequality within countries and factors that contribute to that inequality.   http://www.oecd.org/social/inequality.htm






Globalisation has created winners and losers
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[bookmark: _GoBack]TASK:  Watch the clip and make notes on inequality in Britain: https://www.youtube.com/watch?time_continue=16&v=OVG9Qmd6BWc 

















Inequalities within countries
· The measure used to indicate levels of inequality of income distribution within a country is the Gini Index.
· It is based on a Lorenz curve.  The 45 degree line represents an equal distribution of income.
· The further the curve is away from the line the more unequal the distribution.
· The Gini index gives a coefficient score of between 0 and 1.
· An index score of 1 means a country’s entire income goes to one person; a score of 0 means that income is equally divided among the population.
· The level of inequality varies widely around the world.  Developing countries are usually more unequal than rich ones.

Measuring Income Inequality

[image: ]

NOTE: Sweden, Mexico and Haiti have all experienced globalisation to some degree, but the outcome is that Mexico and Haiti are more unequal than Sweden.




TASK:  Watch the clip on the Lorenz curve https://www.tutor2u.net/economics/reference/the-lorenz-curve

TASK:  Using the graph, Figure 7.20 (below), and map, Figure 7.21 (below), analyse the pattern of inequality changes over time.

[image: ]

[image: ]


































· Within many developing the Gini index shows that inequality has worsened.
· The majority of people live in countries where income disparities are larger than they were a generation ago.
· The main exception to trend is Latin America where Gini coefficients have generally fallen over the last 10 years.
· Many countries including Britain, Canada and Sweden have seen a rise in the share of national income being taken by the top 1%.
· Globally the number of very wealthy people have increased significantly.


There seem to be two possible explanations for this paradox:
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The Lorenz curve for the world distribution of wealth in 1988
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TASK:  Using the Lorenz curve for 1988 complete the following:
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Geopolitical Issues

· There are many causes of conflict – shortages of food, water, and energy brought about by global growth may lead to conflict between nations in some regions.
· Globalisation has not brought equal prosperity to all.  Some groups feel a sense of injustice or ideological opposition to the richer nations driving the process.
· This may give rise to civil conflict within countries and rapid global communications can hasten the spread of such conflicts.  E.g. ‘The Arab Spring’ sparked in Tunisia 2010 quickly spread across North Africa and the Middle East.
· Trade can be used as a ‘weapon’ in conflict between nations or trade blocs.
· In 2006, the UN Security Council imposed trade sanctions against Iran due to its refusal to suspend its uranium enrichment nuclear programme which severely harmed its integration into the world economy.
· Russia’s supposed backing of separatists in the Ukraine has brought sanctions against them from the EU and USA. 


Unequal power relations enable some states to drive global systems to their own advantage and to directly influence geopolitical events, whilst others are only able to respond or resit in a more constrained way. 


TASK:  Use the words at the bottom to complete the missing blanks.

Some people think that global financial institutions, such as the IMF and the World Bank, are reinforcing unequal power relations between different countries.

· The IMF and the World Bank are both based in the ______ and are led by the USA and other ________________.  Less developed countries (who are most likely to require a loan) therefore have _____________________ over the decisions of the organisations.
· The IMF and World Bank’s loans are _____________ - the less developed country has to make _________ (such as ______________ to make foreign trade and investment easier) in order to receive the loan.
· The _______________________ generally works to ______________ between countries – however, many developed countries have _____ trade barriers in place, ______________ from less developed countries.  This tends to _________ the economies of developed countries at the expense of less developed countries.

World Trade Organisation		less influence			USA
conditional				developed countries		changes
cutting regulation			reduce trade barriers		boost
reducing imports			kept





Unequal flows of people, money ideas and technology within global systems can sometimes act to promote stability, growth and development but can also cause inequalities, conflicts and injustices for people and places.

TASK:  Read ‘Uganda and global systems’ section in the Oxford text book p10-11 and identify evidence of: 
· inequalities and injustice
· stability, growth and development












Evaluate the effects of unequal flows of people, money, ideas and technology on global systems on Uganda. (Hint: consider stability, growth, development, inequalities, conflicts and injustices.)


























Exam Style Question

Figure 1 GDP per capita growth
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Figure 2 Gini Coefficient
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· Using Figures 1 and 2, analyse patterns of global inequality.           (6 marks)































EXTENSION WORK:
· One argument for globalisation is that it will lead to greater political stability.  A sense of the world as one community makes it easier for governments to work together on common goals.
· In the 1999 book, The Lexus and the Olive Tree, Thomas Friedman outlined the idea of the ‘Global Arches Theory of Conflict Prevention’ suggesting that ‘No two countries that both had McDonald’s had fought a war against each other since each got its McDonald’s.’

TASK: Is the quote above by Thomas Friedman true? Consider the extent to which economic integration decreases the likelihood of armed conflict between countries.

TASK:  Watch the following clip on ‘How economic inequality hurts societies’
https://www.ted.com/talks/richard_wilkinson?language=en
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Figure 7.18 Global differential rates of GDP growth by continent
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Table 9 Globalisation's winners and losers

Winners

There were about 1800 billionaires

worldwide in 2016; most have made

their wealth through ownership of
lobal TNCs. .

Losers

Isolated, rural populations in Asia and
Sub-Saharan Africa where subsistence
farming still dominates and global
connections are thin.

Developed countries have proved very
good at maintaining their wealth, despite
the rise of countries like China.

Workers (especially male ones) in old
industrial cities in the developed world
who have generally lost jobs.

The rising middle class of factory and
call centre workers in Asia, whose
incomes have risen as they have gained
outsourced and offshored jobs.

Workers in sweatshop factories

in emerging countries; they suffer
exploitation (but may still be better off than
in the rural areas they migrated from).

People who work for TNCs in developed
countries who have a high income and
reasonable job security, although lead
high-stress lives.

Slum dwellers in developing world
megacities like Lagos, as the reality
of urban life is often much worse than
they expected.
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Inequalities within countries

The measure usually used to indicate levels of inequality
of income distribution within a country is the Gini
Index, named after Italian statistician Corrado Gini.

It is based on the idea of a Lorenz curve as shown in
Figure 7.19. The 45° line represents an equal distribution
of income so the further the curve is away from the

line, the more unequal the distribution. The Gini index
aggregates the inequalities in pecple’s incomes into a
single measure, with a coefficient score of between zero
and one. An index score of one means a country’s entire
income goes to one person; a score of zero means that
income is equally divided among the population.

100%
Key
— Canada per cent of income
—— US per cent of income

80%

The level of inequality varies widely around the world
Developing economies are usually more unequal than
rich ones, for example, South Africa has a score of 0.60.
T |
The Lorenz curve is used in Figure 7.19 to
demonstrate the degree of unevenness (in this case
comparing income inequality between two countries)
from a completely even distribution (represented by the
45° line). Consider how the Lorenz curve graphic might
be used to compare and represent other measures of
uneven distribution within physical or human geography.

It might be used to present such comparisons in your
fieldwork investigation.

Within many developing economies, the Gini index
shows that inequality has worsened. Sub-Saharan Africa
saw its Gini index rise by 9 per cent between 1993 and
2008 and China’s score has increased by 34 per cent
in the last twenty years. The majority of people live in
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Figure 7.20 Income inequality — changes in Gini coefficient over
time (0 = perfect equality; 1= perfect inequality)

There seem to be two possible explanations for this

paradox:

@ Outsourcing: Contrary to popular belief, TNCs based
in developing countries often employ skilled workers
and pay higher wages. A report from the OECD found
that average wages paid by foreign transnationals are
40 per cent higher than wages paid by local firms. By
contrast, unskilled workers, particularly those in rural
areas, tend not to have such opportunities. The result
is that inequality increases

Investment: Those with some money to begin with
will gain from investment and benefit more from
growth, whereas those with no money stay rooted
in poverty. Only with further development will
equality increase.
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Ilhths tip N

Tofind a gaod estimate
of the area on the graph
paper area under the
Lorenz curve (A), first count
the complete squares.

Then count the bisected
squares. Add the number
of complete squares to the
half the number of bisected

* squares to estimate A
(Furthermore, A + B is equal
10 half the total area of the
graph)
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Figure 1 GDP per capita growth
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Global Systems and Global Governance
« Form and nature of economic, political, social and
environmental interdependence in the contemporary world.
« Issues associated with unequal flows of people, money,
ideas and technology within global systems.
+ lssues associated with unequal power relations.

Learning Objectives:

o To be able to discuss the causes and
consequences of inequality linked to
globalisation.

To be able to discuss the advantages and
disadvantages of globalisation.

Keywords
Outsourcing.





